
 
Graphing Review 
 

Vertex Form Intercept Form Standard Form Graph 

  
 
 
 

 
 
 
 

𝑓(𝑥) = 𝑥2 − 4𝑥 − 5 

 

  
 
*remember to factor out 
the GCF first 

 
 
 
 
𝑓(𝑥) = 2𝑥2 + 4𝑥 − 6 

 

 
 
 
 
 
 
 
 



Use any method to solve. Explain why you chose the method that you chose.  
 
1.   𝑥2 + 8𝑥 = −15                  2.   3𝑥2 − 16𝑥 − 7 = 5           
 
 
 
 
 
 
3.  𝑥2 + 8𝑥 = 28               4.  𝑥2 − 8 = −2𝑥 
 
 
 
 
 
 
5. 4𝑥2 + 8𝑥 + 7 = 4                     6.   2𝑥2 − 7𝑥 − 13 = −10 
 
 
 
 
 
 
7. 
 
 


